Public Works Committee October 14, 2025

TO: Lincoln Parish Police Jury FROM: Public Works Committee

SUBJECT: Committee Report

The Public Works Committee of the Lincoln Parish Police Jury met in the Police Jury Meeting Room, 100 West Texas Avenue, Ruston, Louisiana, Tuesday, October 14, 2025 at 4:00. p.m. Present were: Greg Williams, Chair, Dan Lord, T.J. Cranford, Milton Melton, and Diane Richards

Chair Greg Williams called the meeting to order, and Dan Lord delivered the Invocation.

Dan Lord offered a motion, seconded by Milton Melton, to approve the Agenda. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Chair Williams called for Public Comments on Agenda Items. There were none.

First item on the Agenda was to authorize advertisement for bids. After discussion, Dan Lord offered a motion, seconded by Milton Melton, to authorize advertisement for the following bids:

- Gas/Diesel (1 Year)
- Gravel (1 Year)
- Culverts (1 Year)
- Hot Mix Maintenance (6 Months)
- Generator Project

The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Under action on bids, Dan Lord offered a motion, seconded by Milton Melton, to award the low bid for Hot Mix Overlays, to Amethyst Construction, in the amount of \$1,275,471.55.

## Bid Tabulation Lincoln Parish Police Jury 2025 Capital Improvement Plan, Asphaltic Concrete Overlays Bid Opening - September 30, 2025, 2:00 P.M. (SCC Project No. 3482)

Item				Amethyst Construction, Inc.		Regional Construction, LLC	
No.	Description	Quantity	Unit	Unit Price	Extension	Unit Price	Extension
BID I	TEMS:						
1	1-1/2" min. thickness, Superpave (Level 1) Asphaltic Concrete (Wearing Course)	1,590	SY	\$14.00	\$22,260.00	\$15.75	\$25,042.5
2	2" min. thickness, Superpave (Level 1) Asphaltic Concrete (Wearing Course)	11,002	SY	\$18.00	\$198,036.00	\$20.75	\$228,291.5
3	2-1/2" min. thickness, Superpave (Level 1) Asphaltic Concrete (Wearing Course)	12,889	SY	\$22.00	\$283,558.00	\$26.00	\$335,114.0
4	1-1/2" min. thickness Superpave (Level 1) Asphaltic Concrete (Base Course)	1,569	SY	\$14.00	\$21,966.00	\$14.75	\$23,142.7
5	2" min. thickness Superpave (Level 1) Asphaltic Concrete (Base Course)	10,653	SY	\$18.00	\$191,754.00	\$19.50	\$207,733.5
6	12" min. thickness soil cement base treatment (7% by volume)	25,726	SY	\$12.25	\$315,143.50	\$14.50	\$373,027.0
7	2" min. cold plane asphalt	10,421	SY	\$5.00	\$52,105.00	\$5.00	\$52,105.0
8	2-1/2" min. cold plane asphalt	10,149	SY	\$6.00	\$60,894.00	\$5.50	\$55,819.5
9	3" min. cold plane asphalt	1,566	SY	\$7.00	\$10,962.00	\$6.00	\$9,396.0
10	Pavement patching	146	SY	\$250.00	\$36,500.00	\$170.00	\$24,820.0
11	Shoulder material	208	CY	\$75.00	\$15,600.00	\$90.00	\$18,720.0
12	4" wide white edge striping	12,195	LF	\$0.45	\$5,487.75	\$1.25	\$15,243.7
13	4" wide yellow double centerline striping	5,938	LF	\$0.85	\$5,047.30	\$1.50	\$8,907.0
14	24" wide painted stop bar	144	LF	\$7.00	\$1,008.00	\$10.00	\$1,440.0
15	Painted crosswalk	1	LS	\$650.00	\$650.00	\$2,000.00	\$2,000.0
16	Construction Layout	1	LS	\$4,500.00	\$4,500.00	\$25,000.00	\$25,000.0
17	Temporary signs, barricades, and traffic control	1	LS	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.0
11	Mobilization (Project)	1	LS	\$30,000.00	\$30,000.00	\$100,000.00	\$100,000.0
	HENRY A. SHULER				\$1,275,471.55		\$1,550,802.5

The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Public Works Committee October 14, 2025

Dan Lord offered a motion, seconded by Diane Richards, to award the bid for one (1) new dump truck, to Bruckner's Truck and Equipment in the amount of \$169,412.00. The low bid was rejected for not meeting specifications.



## **LINCOLN Parish Police Jury**

P.O. Box 979 RUSTON, LOUISIANA 71273-0979 PH: 1-318-513-6200 FAX: 1-318-513-6209

## **BID TABULATION SHEET**

Item #: One (1) 52,000 lb GVW Regular Cab Tandem Dump Truck

Bid Date: Friday, September 12, 2025

**Budgeted Amount: None** 

**Notes:** Replacing wrecked dump truck.

Bidder	Model	Bid	Delivery Date				
Scott Truck LLC	International HV615 Warren MSF-13-4248	\$152,240.00	Approximately April 2026				
Bruckner's Truck & Equipment	Mack Pinnacle HilBilt 1214 Yd	\$169,412.00	12/4/2025				
Dobbs Peterbilt	Peterbilt 567 Hilbilt	\$209,279.03	12/5/2025				

Recommend awarding bid to Bruckner's Truck & Equipment for \$169,412.00 for the following reasons:

- \* Bid document requires an exact delivery date as an important consideration in determining the successful bidder. The exact delivery date is not listed on Scott Truck LLC bid form.
- \* An email was received on October 2, 2025 from Scott Truck LLC notifying us that a 25% tariff will be applied to all heavy-duty trucks effective October 1, 2025. They stated "I do anticipate that it will be applied". This will increase the bid amount to \$190,300.00.

The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Next item on the Agenda was to consider, and take action if necessary, setting speed limits for Parish Park Road to 25 MPH and Mt. Harmony Church Road to 35 MPH. After discussion and questions, Dan Lord offered a motion, seconded by T.J. Cranford, to set the speed limits as presented. The motion carried with the following votes:

Public Works Committee October 14, 2025

YEAS: Williams, Lord, Cranford, Melton, and Richards

Under Other Business, Dan Lord offered a motion, seconded by T.J. Cranford, to set sewer rates for 2026 at \$46.00 per month, an increase of \$1.00. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, and Richards

NAYS: Melton

Next item on the Agenda was the approval of Mary E.K. Freeland Unit No. 2 Subdivision Plat. Dan Lord offered a motion, seconded by T.J. Cranford, to approve the plat. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Next item on the Agenda was to approve Mondy Road Estates Subdivision Plat with contingencies. After discussion, Dan Lord offered a motion, seconded by Milton Melton, to approve the plat with contingencies. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Next item on the Agenda was to approve the Ruston-Lincoln Realty Subdivision Plat with variances. Dan Lord offered a motion, seconded by Milton Melton, to approve the plat with variances. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Next item on the Agenda was to consider, and take action if necessary, providing assistance to the Village of Simsboro for right-of-way trimming. Diane Richards offered a motion, seconded by Dan Lord, to provide assistance. The motion carried with the following votes:

YEAS: Williams, Lord, Cranford, Melton, and Richards

Chair Williams called for Public Comments. There were none.

There being no other business to come before the Committee, Dan Lord offered a motion, seconded by T.J. Cranford, to adjourn the meeting. The motion passed unanimously.

Courtney Hall	Greg Williams
Parish Administrator	Committee Chair